Fully-Worked Solutions

PRACTICE 5
I Section A

1 R
0 Hypotenuse
Adjacent side \
P Opposite side 0
Answer: B
2 P
X
4 Opposite side
p
Hypotenuse

. Opposite side
sin x =

Hypotenuse
sinx = 4
-
Answer: C
3
b
Adjacent side a
c
Hypotenuse

Adjacent side
cos m=

Hypotenuse
cosm=-"L
c
Answer: C
4
Adjacent side
6 cm
8 cm
Opposite side
tan v = Opposite side
r= Adjacent side
8 _ 4
tany=—=—
76 T3
Answer: A
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5
5cm
Scm
4 cm
T I R
3cm
sinx:i
5
Answer: C
6 » 5 0 3 R
Yy
5 4
X
4 s
tany=—=—
7%
Answer: D
7 P
0
13 cm
5cm
S 7 cm R 5 c:m Q
0S=+132-5=12cm
SR=7cm
tan Gzl
5
Answer: A
8 tang=A12 PR =24 + 10?
5 =26 cm
24 _12
PO 5
12 PQ =120
PO =10cm
Answer: C
9
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25772 =24
tan (90° — 6) = 27—4

Answer: D

sin x
10 tanx = —>—=
Cos X

>";|‘“ u.|4>‘u]|w

Answer:

11 w

5cm

S 10 cm

=./62+8
=10cm

tan ZWQS = >

10
15
ZWQS = tan™'——
© 10
=26.57°
Answer: B
12

cos 0 = 08
2.2

0 = cos' 98
2.2

=68°41"
Answer: C
13

Horizontal line

28°

I in2ge
250
h =250 sin 28°
=1174m
Answer: A
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E\

HK=3x2=6cm
HI =[5+ 122
=13 cm
~KJI=13-6
=7 cm
Answer: B

12 cm

15

P
0§ =5%x2=10cm
QT:%XIOcm=SCm

5
SIy=—
Y 3

Answer: A

I Section B

1 (a) (i) PR: Hypotenuse
(i) PQ: Adjacent side
(b) (i) increases
(i) decreases
2 (a) (i) FALSE
(ii) TRUE
() p

0 R ' §
PQ
S

sin 6=

3 (a) (i) sin45°| = \/%
3
2

(i) tan 60°| -
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(b) (i) cos o=

—

(i) tan =

I Section C
1 (a) LN =+/132-52

=12 cm

(b) ZBAC =90° — x
-~ ZAED =x

AADE, tan x = %

x =tan"' S
4

=36.87° or 36°52'
©

0 10 m N

tan35°=i
10
h =10 tan 35°
=7m
RS =24 -7
=17m

sin x
COS X

2 (a) tanx =

sinx
tan x
_o71
12
=0.6417
. 3 _9cm
(b) (1) smy—?— D
3CD =45
CD =15cm

AC =+/152-9>=12cm

Cos x =
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(i) cosx=— =AB
8 AC
5 _AB
8 AC
AB=-=x12
8
=7.5cm
(©) () AC=+17>-8>=15cm
sinx:i
17
(i) AB=+/15"-9?
=12cm

3 (a) cos 30° + sin 60°

BB P

2 2 30°\ 2
=./3 B
(b) cos x =4 0 607\
5 1
x =cos &
5
x =36"52
cos X =4
5
oS _ 4
20 5
0§ =16cm
RS 132122
=5cm
OR =QS—-RS
=16-5
=11cm
©) c
20 m

20
tan 65°
AB=PB-PA
=20-9.326
=10.674 m
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